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‘L’ Subtraction with Objects ‘..'j

Subtract 15-5

First plate has 10 carrots and 2" plate has 5 carrots.

/w Total carrots are 15.

15t plate

We have to subtract 5 carrots from 15 carrots

Remaining how many 1s there? That is 10

Now, we got 15-5=10




CF pample:n  subtract 2211

’i"
v

First 2 plate has 10 strawberries each and 3™ plate has 2 strawberries.

Total strawberries 22

15t plate 2"d plate

We have to subtract 11 strawberries from 22 strawberries

6 7 8 9

Remaining how many 1s there? Thatis 11

Now, we got 22 —-11 =11
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’ Example : 3 Subtract 35-7
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First 3 plate has 10 laddus each and 4t plate has 5 laddus

Total laddus are 35
15t plate 2"d plate 31d plate

We have to subtract 7 laddus from 35 laddus.

Remaining how many is there? That is 28 Now, we got 35 _7 = 28
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‘.’ Example : 4 Subtract 45-12
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First 4 group has 10 balloons each and 5™ group has 5 balloons.

Total balloons are 45

15t group 2" group 3" group 4t group 5t group

We have to subtract 12 balloons from 45 balloons

YL % $7/%%

6 7 8 9 10 11 12 1 2 3 4 5

Remaining how many 1s there? That is 33 Now, we got 45 — 12 = 33
; —




‘.’ Example : 5 Subtract 50 -23
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Each hen has 10 eggs.

Total eggs are 50

We have to subtract 23 eggs from 50 eggs
. wxvry 1/9/0/((
/1112 13 14 15 3 4 5

SN 44244 (!/!/(l/

16 17 18 19 20

Remaining how many 1s there? That is 27 Now, we got 50 —23 =27
; —
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“’ Example : 6 Subtract 60 - 31
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Each bowl has 10 marbles.

We have to subtract 31 marbles from 60 marbles

I S W NN e

21 22 23 24 25 11 12 13 14 15

W o a B Kk A

26 27 28 29 30 16 17 18 19 20

Remaining how many 1s there? That 1s 29 Now, we got
)

Total marbles are 60

60 - 31 =29
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